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The emphasis in memory level teaching 1s on which of the following?

(a) Orgamisation of thoughts and 1deas
(b) Seeing of relationships among facts
(c) Systematic presentations to enable gquick reproduction

(d) Critical thinking
(e) Mastery of correct sequencing of facts

(f) Segregating one feature from another

Choose the answer from the following options :

(1) (a). (b) and (c) (2) (a). (c) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (f)
Options:

615475247011
61547524702 2
E1547534703. 3
E1547534704. 4

Question Number : 1 Question Id : 6154758901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534702. 2
61547534703, 3
61547534704, 4

Question Number : 2 Question Id : 6154758902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Below are given two sets in which set I specifies the four behaviour modification techmques
while set II indicates their exemplification. Match the two sets:

Set 1 Set 11
(Behaviour modification (Example)
technmiques)
(a) Positive reinforcement (11 Withdrawal of a pleasant stimulus or application

of an aversive stimulus to stop the behaviour

(b) Negative reinforcement (1) Painful or aversive stimulus 1s presented to stop
the occurrence of behaviour

(c) Punishment (1) The behaviour increases in frequency after the
removal of the stimulus

(d) Extinection (iv) The behaviour increases in frequency after the
presentation of a stimulus

Choose your answer from the following options:

(1)  (a)-). (b)-(). (e)-(11). (d)-(1v)
(2)  (2)-(), (b)-Q). (c)-(1), (d)-Gv)
(3) (a)-(1v ), (b)-(u11). (c)-(u). (d)-(1)
(4) (a)-(11), (b)-(1). (¢)-(11), (d)-(1v)
Options:

615475247051

61547534706, 2

61547534707, 3

61547534708, 4

Question Number : 2 Question Id : 6154758902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1). (b)-(11). (¢)-(111), (d)-(1v)
(2) (a)-(1). (b)-(1). ()-(111), (d)-(1v)
(3)  (@-v). (b)-({ii). (c)-(i). (d)-(1)
@) (@-). (b)-@). (©)-(1), (d)-v)

Options:

615475347051

61547534706, 2

61547524707 2

61547524708, 4

Question Number : 3 Question Id : 6154758903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The most characterstic feature of an adolescent learner which determines his/her social and
moral development 1s the

(1) Tendency to be away from parents
(2) Concern for hero worshipping for emulating values and standards
(3) Mixing up with peers in the neighbourhood
(4) Identity crisis
Options:

E1547534705. 1
61547534710 2
61547534711, 3
61547534712 4

Question Number : 3 Question Id : 6154758903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547534709, 1
615475324710 2
E1547524711. 2
615475234712, 4

Question Number : 4 Question Id : 6154758904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following teaching method (s) 1s/are contributive to direct learning?

(a) Team teaching and lecturing
(b) Simulation and role playing
(c) Lecture with or without use of audio-visuals

(d) Participation in workshop and assignments
(e) MOOCs and heuristics
() Interactive presentations

Choose vour answer from the following options:

(1) (b). (d) and (e) (2) (a), (b) and (c)
(3) (). (d) and (D) (4) (d). (e) and (D
Options:

515475347131
61547534714, 2
61547534715 3
E1547534716. 4
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Correct Marks: 2 Wrong Marks: 0
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615475247121
E1547534714. 2
51547534715 3
B1547534716. 4

Question Number : 5 Question Id : 6154758905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s an example of maximum performance test?

(1) Projective personality test (2) Interest inventory
(3) Aptitude test (4) Attitude scales
Options:

61547524717, 1
E15475347158. 2
E1547534713. 3
B1547534720. 4

Question Number : 5 Question Id : 6154758905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524717, 1
E1547534718. 2
B1547534719. 3
B1547534720. 4

Question Number : 6 Question Id : 6154758906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A college teacher does research with a view to depict the reality situations relating to home
conditions of students and hostels provided for. Which of the following research format will
be helpful to do so?

(1) Experimental research (2) Descriptive research
(3) Participant observation based research (4) Ethnographic research
Options:
61547534721, 1
61547534722 2
61547534723 3
51547534724 4

Question Number : 6 Question Id : 6154758906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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615475347211
E1547534722 2
E1547534723. 3
B1547534724. 4

Question Number : 7 Question Id : 6154758907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following steps of research., the scope for creativity and imagination 1s
utmost?

(1) Identifying the research problem and defining 1t
(2) Figuring out the related studies and the techniques used by other researchers
(3) Identifying vamables and hypothesizing
(4) Data analyvsis and presentation of results
Options:

615475347251
61547534726 2
E1547534727. 3
E1547534725. 4

Question Number : 7 Question Id : 6154758907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534725, 1
61547534726 2
61547534727, 2
61547524728, 4

Question Number : 8 Question Id : 6154758908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while finally reporting the research results in the form of a thesis
acknowledges the support of his/her supervisor in the preface. This will be treated as a

(1) Sheer formality (2) Needed formalhity
(3) Superfluous act (4) Part of ethicality
Options:

615475347291
61547534730, 2
E1547534731. 3
B1547534732. 4

Question Number : 8 Question Id : 6154758908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534729. 1
E1547534730. 2
61547534731, 3
61547534732 4

Question Number : 9 Question Id : 6154758909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In case the population of research 1s heterogeneous in nature which of the following sampling
techniques will ensure optimum representativeness of sample units?

(1) Simple random sampling (2) Stratified random sampling
(3) Cluster samphng (4) Systematic sampling
Options:

61547524732 1
E1547534734. 2
E1547534735. 3
61547534736, 4

Question Number : 9 Question Id : 6154758909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547534733 1
E1547534734. 2
E1547534735. 3
B1547534736. 4

Question Number : 10 Question Id : 6154758910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statistical techmique will be appropriate for data analysis when the
observations are available in the form of frequencies?

(1) Parametric 't' test (2) Non-parametric 'u' test
(3) Non-parametric 'chi-square' test (4) Parametric correlated 't' test
Options:

B1547534737. 1
61547534738, 2
615475234739, 3
61547524740, 4

Question Number : 10 Question Id : 6154758910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547534737, 1
61547534738, 2
E1547534739. 3
E1547534740. 4

Question Number : 11 Question Id : 6154758911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Classroom communication 1s

(a) Like a computer - program
(b) Dictatorial

(c) Purposeful

(d) Pragmatic

Choose the correct option from those given below

(1) (a) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (c)and (d)
Options:

E1547534741. 1
B1547534742 2
61547534743 3
61547534744, 4

Question Number : 11 Question Id : 6154758911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534741. 1
B1547534742 2
61547534743 3
61547534744, 4

Question Number : 12 Question Id : 6154758912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Swapping of encoder -decoder roles 1n communication happens due to

(1) Cognitive disruptions (2) Semantic noise
(3) Feedback analysis (4) Weak channelisation
Options:

E1547534745. 1
E154753474E. 2
B1547534747. 3
61547534748, 4

Question Number : 12 Question Id : 6154758912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547534745. 1
6154753474E. 2
61547534747, 3
61547524745, 4

Question Number : 13 Question Id : 6154758913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Classroom Interactions are influenced largely by

(1) Students’ commitment

(2) Teacher centric environment
(3) Organisational oversight

(4) Unsolicited interventions
Options:

61547534749 1

E1547534750. 2

61547524751, 3
B1547534752. 4



Question Number : 13 Question Id : 6154758913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534749, 1
E1547524750. 2
61547524751, 5
61547534752 4

Question Number : 14 Question Id : 6154758914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When a large number of students with different performance levels are there 1n the class. for

uniform imparting of educative interactions. a teacher should opt for a communication which

1s

(1) Top-down and hinear
(2) Technology - enabled
(3) Individual - centric

(4) Self - projected
Options:

515475347531
£1547534754 2
E1547534755 2
C1547534756. 4

Question Number : 14 Question Id : 6154758914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534754. 2
61547534755 3
61547534756, 4

Question Number : 15 Question Id : 6154758915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements one 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R)

Assertion (A):  Classroom communication 1s pre-decided by social and institutional
demands.
Reasons (R) : Positive educative actions should guide learners to acquire knowledge of

soclal significance

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 1s true
Options:
E1547534757. 1
E1547534758. 2

E1547534759. 3
B1547534760. 4

Question Number : 15 Question Id : 6154758915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547534757, 1
61547534758 2
61547534759 2
E15475247E0. 4



Question Number : 16 Question Id : 6154758916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The length of the side of a square (5.0 em x 5.0 em) 1s 1ncreased by 1%. By what percentage
(%). the area of the square increases?

(1) 1% 2) 2%
(3) 2.5 % (4) 4%
Options:

E1547534761. 1
61547524762 2
E1547534763. 3
B1547534764. 4

Question Number : 16 Question Id : 6154758916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 1% 2) 2%
(3) 2.5 % 4 4%
Options:

E1547534761. 1
61547534762 2
61547534763, 3
61547524764, 4

Question Number : 17 Question Id : 6154758917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the term X' in the following series

3. 2, 11, 14, 27, 34, 51. X

(1) 62 (2) 69
(3) 60 4) 71
Options:

E1547534765. 1
B1547534766. 2
B1547534767. 3
61547534765, 4

Question Number : 17 Question Id : 6154758917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. 2,11, 14, 27, 34, 51. X

(1) 62 (2) 69
(3) 60 4 71
Options:

E1547534765. 1
61547534766, 2
61547534767, 3
61547534768, 4

Question Number : 18 Question Id : 6154758918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A person buys 3 1items of Rs. 1500 each and 2 items of Rs. 1800 each from a shopping mall.
On the total bill a discount of 10% 1s given. What 1s the average cost of the 1tems?

(1) 1650 (2) 1458
(3) 1658 (4) 1550
Options:

61547534769 1
61547534770, 2
E1547534771. 3
B1547534772. 4

Question Number : 18 Question Id : 6154758918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1650 (2) 1458
(3) 1658 (4) 1550
Options:

E154753476%9. 1
B1547534770. 2
G1547534771. 3
E1547534772. 4

Question Number : 19 Question Id : 6154758919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A 50 vear old man has a son whose age 1s 2/5 of his age. After how many years. the ratio of
the age of the man to his son will be 5/37

(1) 10 vears (2) 15 years
(3) 20 years (4) 25 years
Options:

B1547534773. 1
61547534774 2
61547534775 3
61547524776, 4

Question Number : 19 Question Id : 6154758919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TF 50 TUE AT F UH T 7 TAEA A 39 FARE i g w25 2| A 99 @ w9 w
StEd 395 I 1 5/3 7 O 7

(1) 10 =9 (2) 15=m
(3) 2099 (4) 2594
Options:

BE1547534773. 1
B15475347 74 2
61547534775 3
E1547534776. 4

Question Number : 20 Question Id : 6154758920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The smallest integer greater than 1 which 1s simultaneously a sguare and a cube of certain
Integers 1s

(1) 8 2y 9
(3) 36 (4) 64
Options:

E1547534777. 1
E1547534778. 2
B1547534775. 3
61547534750, 4

Question Number : 20 Question Id : 6154758920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547534777, 1
61547534778 2
E15475324779. 2
615475234780, 4

Question Number : 21 Question Id : 6154758921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements and choose the right option

(a) Middle term should be distributed 1n atleast one premise
(b) Middle term should be present in the conclusion
(c) Both premises can be particular in a valid argument

(d) Both premises can be negative 1n a valid argument

(1) (c) and (d) (2) Only (c)

(3) Only (a) (4) (b) and (c)
Options:

61547524751, 1
E1547534782. 2
E1547534783. 3
61547534754, 4

Question Number : 21 Question Id : 6154758921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547534781. 1
E1547534782. 2
E1547534783. 3
B1547534754. 4

Question Number : 22 Question Id : 6154758922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s true with reference to anupalabdhi as a means of knowledge?

(1) 1 do not cognize the pot on the table, therefore it 15 absent there
(2) 1 directlv perceive the absence of pot on the table
(3) 1 infer the absence of pot on the table since 1 do not find 1t to be there
(4) 1 know the absence of the pot on the table because 1 know 1ts similarity with other
absences
Options:

E1547534785. 1
61547534786, 2
G1547534757. 3
61547534788, 4

Question Number : 22 Question Id : 6154758922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534785 1
E1547524786. 2
61547534787, o
61547534788, 4

Question Number : 23 Question Id : 6154758923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"If 1t rains. then the drought will end. The drought has ended. Therefore. it rained”. Which
kind of fallacy does this commit?

(1) Deductive fallacy (2) Inductive fallacy
(3) Abductive fallacy (4) Informal fallacy
Options:

61547524759 1
61547524730, 2
E1547534731. 3
E15475347392. 4

Question Number : 23 Question Id : 6154758923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TeaTeass searam (2)  SATTHATHS FoaTaTH
(3)  ITTHATH® ecdivd (4) FEMEE FearaE
Options:

E1547534789. 1
61547534730, 2
61547534731, 3
E154753473%2. 4

Question Number : 24 Question Id : 6154758924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s the characterstic feature of an argument?

(1) It 1s either valid or invalid (2) It 1is neither valid nor invalid
(3) It 1s either true or false (4) It 1s neither true nor false
Options:

E15475347593. 1
E15475347394. 2
615475347385 3
61547534736, 4

Question Number : 24 Question Id : 6154758924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freAferias 5 5 =+ o faswes Tt o6 = Sferes @am 2 27
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Options:

51547534753 1
61547534734, 2
61547524735 3
E15475347396. 4

Question Number : 25 Question Id : 6154758925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"In this hospital. some nurses don't wear white dress. some doctors have private practice and
medicines prescribed are of high cost. Therefore, treatment in this hospital 1s of poor
quality”. What fallacy does this argument make?

(1) Fallacy of composition (2) Shppery slope
(3) Fallacy of accident (4) Fallacy of division

Options:



B15475347397. 1
615475347388, 2
615475347395 3
61547534800, 4

Question Number : 25 Question Id : 6154758925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =uE-39 (2) Feagdi =g
(3) VI —E'ET"I (4) HE-a
Options:

B1547534797. 1
61547534738, 2
61547534739 3
61547524800, 4

Sub-Section Number: 2
Sub-Section I1d: 615475389
Question Shuffling Allowed : Yes

Question Id : 6154758926 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension

Consider the following table that shows the amount of exports (in crore %) from three
different companies A. B. and C over the years 2012-2018. Based on the data in the table,
answer the questions 26-30:

Year-wise amount of Exports from companies

Amount of exports (In cror. Rs.)
Year
A B G
2012 40 90 70
2013 70 50 100
2014 50 70 130
2015 80 70 100
2016 110 90 70
2017 60 110 90
2018 130 150 110
Sub questions

Question Number : 26 Question Id : 6154758927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Average annual amount of exports during the given period for company B 1s approximately
what percent (%) of the average annual amount of exports for company C?

(1) 89.64% (2) 91.21%
(3)  94.03% (4) 93.33%
Options:

515475234801, 1
61547534802, 2
61547534803, 3
615475245804, 4

Question Number : 27 Question Id : 6154758928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In how many of the given years. were the exports from company A more than its average

annual exports over the given yvears?

(1) 2 B 3
(3) 4 4 b
Options:

E1547534805. 1
E1547534806. 2
61547534807, 3
61547534808, 4

Question Number : 28 Question Id : 6154758929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What was the differene between the average exports of three companies 1n 2017 and the

average exports of three companies 1n 20127

(1) % 15.33 crores (2) % 18.67 crores
(3) T 25 crores (4) T 20 crores
Options:

E1547534808. 1
E1547534810. 2
61547534811, 3
61547534817, 4

Question Number : 29 Question Id : 6154758930 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which yvear. the absolute difference between the exports from companies A and B was the

minimum?

(1) 2013 (2) 2014
(3) 2015 4 2016
Options:

E1547534813. 1
E1547534814. 2
61547534815 3
61547534816, 4

Question Number : 30 Question Id : 6154758931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For which of the following pairs of years. the total exports from the three compames put
together are equal?

(1) 2014 and 2017 (2) 2015 and 2017
(3) 2016 and 2017 (4) 2014 and 2015
Options:

E1547534817. 1
E1547534818. 2
61547534815, 3
61547534820, 4

Question Id : 6154758926 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label @ Comprehension

fre=fertaa arfoft w fomm =+ e Gy sl v, o s o g ad 2012-2018 = i FFo o
fata =i ofer (s 5. %) fome 12 2 | @l @ 50 10 A7 % SER W, 999 26 — 30 I F

Fm B T (e = )

r

a9

o

T = ot
2012 40 90 70
2013 70 50 100
2014 a0 70 130
2015 80 70 100
2016 110 a0 70
2017 60 110 90
2018 130 150 110

Sub questions



Question Number : 26 Question Id : 6154758927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1 % wEty % aRE F S g B T fEiE i osiEa e T e # g e e i o st
TR i =1 =T TR ufamE (%) 27

(1) 89.64% (2) 91.21%
(3) 94.03% (4) 93.33%
Options:

61547534801, 1
61547524802, 2
E1547534803. 3
51547534804, 4

Question Number : 27 Question Id : 6154758928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
&t TS FmEfy % SF F AT a9l | e U g B T e o o Eogg sEta S e o SR i

T et o sataE w1 27

(1) 2 2) 3
(3) 4 (4 5
Options:

E1547534805. 1
61547534806, 2
61547534807, 3
61547534808, 4

Question Number : 28 Question Id : 6154758929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T9 2017 | AF1 FAEE F HET =G v 59 2012 9 969 FOEE 6 9 e 0 o= A e v

(1) ¥ 15.33 %S (2) % 18.67 =S
(3) ¥ 95 T3 4) T 203
Options:

515475234805, 1
61547534810, 2
61547524811, =
E1547534812. 4

Question Number : 29 Question Id : 6154758930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

615475245812 1
615475245814, 2
E1547534815. 3
E1547534816. 4

Question Number : 30 Question Id : 6154758931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fttEa 67 39 99 & e o= FeE = T FEE T6E w58

(1) 2014 3® 2017 (2) 2015 =k 2017
(3) 2016 #iT 2017 (4) 2014 = 2015
Options:

E1547534817. 1
61547534818, 2
61547534819 3
61547534820, 4

Sub-Section Number: 3
Sub-Section 1d: 615475390
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154758932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s/are major 1ssues arising out of the growing reliance on information
technology?

(a) Profitability
(b) Security threats

(c) Privacy concerns

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only
(4) (a). (b) and (c)

Options:
61547534821, 1



E1547534822. 2
61547534823, 3
61547534824, 4

Question Number : 31 Question Id : 6154758932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) === (a) 31 (b) (2) e (a) T (c)
(3) = (b) 3T (c) 4) (a). (b) ¥R (c)
Options:

61547534821, 1
61547534822 2
61547524822, 3
E1547534824. 4

Question Number : 32 Question Id : 6154758933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following communication technologies employ only asynchronous
communication?

(a) Video conferencing
(h) Email
(c) Forums

(d) Instant messaging

Choose the correct option :

(1) (a) and (c) only (2) (b) and (d) only
(3) (b) and (c) only (4) (a) and (d) only
Options:

61547534825 1
61547534826, 2
61547524827, 3
E1547534825. 4

Question Number : 32 Question Id : 6154758933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fefetEd § © FiF H5 991 SRR T e JE w6 I Al B Y
(b)  =HE
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(1) 5 (a) 37 (©) (2) A (b) HW (d)
(3)  FaA (b) 3T () (4) =4 (a) 311 (d)
Options:

61547534825 1
61547534826, 2
61547524827, 3
E1547534825. 4

Question Number : 33 Question Id : 6154758934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements 1s/are correct?

(a) For the sequence of integers represented in binary as 00111, 01001. 01011. P...., the
next integer P would be represented as 01101

(b) A byte 1s a binary number consisting of exactly 8 bits

Choose the correct option:

(1) (a) only

(2)  (b) only

(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547534529 1
E15475348230. 2
£1547534531. 2
61547534532 4

Question Number : 33 Question Id : 6154758934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  TE=rami =@em o FHeftd sfEsrss g 00111, 01001, 01011, P. .o............ & %8 § 371
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O (@) @ F= )
(3) () AR (b) ZFA @) (a) A (b) =7 T
Options:

E1547534829. 1
E1547534820. 2
61547534821, 3
61547534832, 4

Question Number : 34 Question Id : 6154758935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List-I with List-II in the context of computer networking :

List-I List-IT
(a) VOIP (1)  Makes use of hight pulses to transmit
data
(b) Fibre-optic cable (11) Use of internet to make phone calls
iy WVRL (1) Most appropriate to connect computers

1n a small building

(d) UTP cable (1v) Text used by web browsers to locate a
web addreszs on the Internet

Choose the correct option :

(1) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(3) (a)-(11). (b)-(111), (c)-(1v). (d)-(1)
(4) (a)-(1v), (b)-(111). (e)-(11). (d)-(1)

Options:

61547534833, 1

61547534834, 2

61547534835, 3
61547534836, 4

Question Number : 34 Question Id : 6154758935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(v). (b)-(1). (c)-(11). (d)-(111)
(2) (a)-(11). (b)-(1). (e)-(iv). (d)-(111)
(3) (a)-(11). (b)-(111), (c}-(1v). (d)-(1)
(4) {(a)-(1v). (b)-(1m1). (c)-(11). (d)-(2)

Options:

61547534833, 1

61547534834, 2

E15475348535. 3
E1547524856. 4

Question Number : 35 Question Id : 6154758936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that includes file formats suitable for distributing sound files across the
Internet.

(1) wmv, mp4, wma, mp3

(2) avi, midi. wav, mp3

(3) avl, mov, wmv, mp3

(4) midi, wav, wma. mp3
Options:

61547524837, 1
E15475348358. 2
E1547534839. 3
51547534840, 4

Question Number : 35 Question Id : 6154758936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475345837, 1
61547534828 2
61547524839, 3
61547524840, 4

Question Number : 36 Question Id : 6154758937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biomass fuels have the potential to form a sustainable carbon-neutral energy source because
they
(1) Produce carbon dioxide on combustion as much as they consume when they grow

(2) Produce less amount of carbon dioxide on combustion compared to the amount they
use during their growth

(3) Have carbon content same as fossil fuels
(4) Do not produce hazardous emissions on combustion
Options:

E1547534841. 1
615475348472 2
61547534842 3
61547524544, 4

Question Number : 36 Question Id : 6154758937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) I TEA TR W TAATR ScodeA el ol 2
Options:

61547534841 1

61547534842, 2

61547534843, 3

61547534844 4



Question Number : 37 Question Id : 6154758938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Major sources of oxygen demanding waste in fresh water systems are

(a)
(b)
(c)
(d)

(e)

Agreultural run-off
Food processing
Ore mining

Sewage effluent

Landfill sites

Choose the correct option from those given below:

(1)

(3)

Options:

(a). (d) and (e) (2)  (b). (d) and (e)

(a). (b) and (d) (4) (a). (b). (c) and (d)

515475345845 1
61547534846, 2
61547524847, 3
E15475348458. 4

Question Number : 37 Question Id : 6154758938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534545, 1
61547534846 2
E15475324847. 2
615475234848, 4

Question Number : 38 Question Id : 6154758939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a renewable natural resource?

(1) Biological diveristy (2) Tin
(3) Natural zas (4) Salt
Options:

E15475348459. 1
61547534850, 2
61547534851, 3
61547534852, 4

Question Number : 38 Question Id : 6154758939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) EERCICLLI (2) fa&=
(3)  TEEE T (4) TmEm
Options:

615475245849 1
E1547534850. 2
E1547534851. 3
61547534852, 4

Question Number : 39 Question Id : 6154758940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following natural hazards has relatively slow onset?

(1) Volcanic eruptions

(2) Droughts

(3) Wild fires

(4) Land and shdes
Options:
1547534552 1
E1547534554. 2

E1547534855. 3
E1547534856. 4

Question Number : 39 Question Id : 6154758940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
61547534353 1
E15475245854. 2
E1547534855 3
61547534856 4

Question Number : 40 Question Id : 6154758941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyvoto protocol, the parties, in the second commitment period, have to reduce their
greenhouse gas emissions with reference to 1990 levels by atleast

(1) 10%
(2) 12%
(3) 15%
(4) 18%
Options:

E1547534857. 1
61547534858, 2
615475348549, 3
61547534860, 4

Question Number : 40 Question Id : 6154758941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 10% (2) 12%
(3) 15% (4) 18%
Options:

E1547534857. 1
61547534858, 2
61547534859, 3
61547534860, 4

Question Number : 41 Question Id : 6154758942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Matech the following study skills with their effective learning techniques:

(a)

(b)

(c)

(d)

Study skills

Elaborative interrogation
Practice testing
Self-Explanation

Interleaved practice

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(1v). (b)-(111), (c)-(11), (d)-(1)
(a)-(1). (b)-(11). (c)-(xv), (d)-(111)
(a)-(11), (b)-(1v). (c)-(2). (d)-(111)
(a)-(111). (b)-(2). (c)-(11). (d)-(1v)

615475245861, 1
E1547534862. 2
E1547534863. 3
61547534864, 4

(1)
(11)
(111)

(1v)

Learning techniques

Mixing different kinds of problems
together when studying

Explaining what a section of text or an
example problem means to vou

Testing vourself on the materal you
are trying to learn

Answering why a fact 1s true

Question Number : 41 Question Id : 6154758942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)
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(1)
(2)
(3)
(4)

Options:

(a)-(1v). (b)-(ii1). (c)-(11), (d)-(1)
(a)-(1). (b)-(11). (¢)-(v). (d)-(111)
(a)-(11). (b)-(v), (e)-(1). (d)-(111)
(a)-(11). (b)-(1). (¢)-(11), (d)-(1v)

61547534861, 1
61547534862, 2
61547534863, 3
615475245864, 4

(1)

(11)

(111)

(1v)
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Question Number : 42 Question Id : 6154758943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following represents the correct order of sequence for reading skills 1n the
context of research?

(1)
(2)
(3)
(4)

Options:

Read. question, recall, review, survey
Questions, survey. read. recall. review
Recall, review, survey. question, read

Survey, question. read. recall. review

615475245865, 1
E1547534866. 2
E1547534867. 3
51547534868, 4

Question Number : 42 Question Id : 6154758943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 939, W99, T, HHiE, A8
(2)  UIA, WA, U3, S0, HHIET
(3) T, THiET, HAW, 9, T

(4)  HET, I, T3, T, gHIET
Options:

61547534865 1

61547534866, 2

61547534867, 2

E1547534868. 4

Question Number : 43 Question Id : 6154758944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In order to meet the demands of market economy and produce competent graduates, who can
compete with their counterparts in international markets, the first and foremost change that
needs to be introduced 1n the prevailing system of Indian higher education 1s related to:

(1) Admission process
(2) Curriculum
(3) Educational technology

(4) Appointment of teachers
Options:
1547534569 1
61547534570 2
E1547534871. 2
£1547534572 4

Question Number : 43 Question Id : 6154758944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547534869, 1
E1547524870. 2
615475234871, 5



E1547534872. 4

Question Number : 44 Question Id : 6154758945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s the flagship scheme of the Mimstry of Skill Development and
Entrepreneurship implemented by National Skills Development Corporation?

(1) Rohbotics India

(2) Artificial Intellizence @ schools

(3) Make in India

(4) Pradhan Mantr Kaushal Vikas Yojna

Options:

61547534873, 1
61547534874 2
61547534875 2
61547524576, 4

Question Number : 44 Question Id : 6154758945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547534873, 1
61547534874 2
61547534875 2
61547524576, 4

Question Number : 45 Question Id : 6154758946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the age of four Vedas. students were admitted to the Vedic schools after performance of
which ceremony. among the following :

(1) Upanavana ceremony
(2) Utsarjana ceremony
(3) Satapatha brahmana

(4) Dhanurvidya ceremony

Options:



E1547534877. 1
61547534878, 2
615475348759, 3
61547534880, 4

Question Number : 45 Question Id : 6154758946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547534877, 1
61547534878 2

61547524879, 3
E1547534880. 4

Sub-Section Number: 4
Sub-Section 1d: 615475391
Question Shuffling Allowed : Yes

Question Id : 6154758947 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



Read the passage and answer questions from 46 to 50.

Anvone who has ever been In a classroom where the teacher's presentation was lifeless.
static, and without vocal vamety can appreciate the commonsense value of the affective side
of teaching. However, unhike the other behaviours, affect cannot be captured in transcripts of
teaching or by classroom interaction instruments. Narrowly focussed research instruments
often miss a teacher's affective nature. which emerges from a more holistic view of the
classroom. This affective nature 1s the foundation on wheih one can build a warm and
nurturing relationship with his or her learness. What the instruments miss, the students see
clearly. Students are good perceivers of the emotions and Iintentions underlying a teacher's
actions. and they often respond accordingly. A teacher who 1s excited about the subject being
taught and shows 1t by facial expressions. voice inflection, gesture and movement-thus
communicating respect and caring for the learner - 1s more hikely to hold the attention of
students and motivate them to higher levels of achievement than one who does not exhibit
these behaviours. Students take their cues from these affective signs and lower or heighten
their engagement with the lesson accordingly. Enthusiasm 1s an important aspect of a
teacher's affect. Enthusiasm 1s the teacher's vigour, power. involvement. excitement, and
interest during a classroom presentation and willingness to share this emotion with learners.
who will want to respond 1n kind.

Sub questions

Question Number : 46 Question Id : 6154758948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When does one feel the need for the value of affective aspects of teaching?

(1) When a teacher has a vocal variety

(2) When a teacher makes a dvnamic presentation

(3) When a teacher's presentation 1s monotonous

(4) When a teacher's lecture 1s beyond expectation
Options:

E1547534881. 1
61547534882, 2
61547534883, 3
61547534854, 4

Question Number : 47 Question Id : 6154758949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The affective nature of teaching 1s reflected 1n

(1) Deeper understanding of the classroom environment

(2) Other behaviours of the teacher

(3) The recording of classroom interaction
(4) The Iimited reliance on research instruments
Options:

61547524885, 1
61547524886, 2
E1547534887. 3
E1547534888. 4

Question Number : 48 Question Id : 6154758950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Students respect a teacher who

(1) 1s emotional

(2) displays concern for students

(3) has a powerful voice

(4) has narcissitic attitude
Options:

61547534859, 1
61547534830, 2
E15475348391. 3
E15475348392. 4

Question Number : 49 Question Id : 6154758951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The affective signs will provide students

(1) The basis for understanding contents

(2) Exhibitional behaviours

(3) Cues to hold attention

(4) A basis which triggers further enthusiasm

Options:

615475345493 1
615475234894, 2
61547534895 5
61547534896, 4

Question Number : 50 Question Id : 6154758952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The passage focusses attention on

(1) Lifeless classroom presentation

(2) Affective factors of teaching

(3) Students as emotional learners

(4) Measuring teacher's affective nature
Options:

B1547534897. 1
615475348398, 2
615475348399, 3
61547524300, 4

Question Id : 6154758947 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 46 Question Id : 6154758948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475348511

E1547534882 2

61547524882, 3

61547524854 4

Question Number : 47 Question Id : 6154758949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534885, 1
61547534886 2
E1547524887. 2
615475234888, 4

Question Number : 48 Question Id : 6154758950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475245859, 1
E1547534830. 2
E15475348391. 3
61547534852, 4

Question Number : 49 Question Id : 6154758951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154752458392, 1
E15475348394. 2
E1547534835. 3
51547534836, 4

Question Number : 50 Question Id : 6154758952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547534897. 1
615475348398, 2
61547534899, 3
61547534300, 4

PART 11 Sanskrit Traditional Subjects

Section Id : 615475120
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475392
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154758953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534901, 1
615475343902, 2
E1547534903. 3
E1547534904. 4

Question Number : 51 Question Id : 6154758953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475243901, 1
615475243902, 2
E1547534903. 3
E1547534904. 4

Question Number : 52 Question Id : 6154758954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475243905, 1
E1547534906. 2
E1547534907. 3
515475343908, 4

Question Number : 52 Question Id : 6154758954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547534905, 1
615475343906, 2
E15475348907. 3
E1547534908. 4

Question Number : 53 Question Id : 6154758955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753490%3. 1
E1547534910. 2
61547534911, 3
61547534912 4

Question Number : 53 Question Id : 6154758955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547534909, 1
615475343910, 2
61547524911, =
E1547534912. 4

Question Number : 54 Question Id : 6154758956 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752349131
61547534914, 2
61547534915 3
E1547534916. 4

Question Number : 54 Question Id : 6154758956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752349131
51547534914, 2
61547534915 3
61547524916 4

Question Number : 55 Question Id : 6154758957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547534917. 1
61547534918, 2
61547534919 3
61547534920, 4

Question Number : 55 Question Id : 6154758957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547534917. 1
61547534918, 2
E15475349149. 3
61547524920, 4

Question Number : 56 Question Id : 6154758958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475349211
E1547534922 2
E1547534923. 3
E1547534924. 4

Question Number : 56 Question Id : 6154758958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524921, 1
B1547534922. 2
B1547534923. 3
B1547534924. 4

Question Number : 57 Question Id : 6154758959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547534925. 1
61547534926, 2
E1547534927. 3
61547524925, 4

Question Number : 57 Question Id : 6154758959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547534925. 1
B1547534926. 2
B1547534927. 3
61547534925, 4

Question Number : 58 Question Id : 6154758960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475344929 1
61547534920 2
61547534931, 2
61547534932 4

Question Number : 58 Question Id : 6154758960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547534929, 1
61547534930 2
61547534931 =2
61547534932 4

Question Number : 59 Question Id : 6154758961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A T 7

(1) 3 (2) =m:
(3 =@ (4) ¥I:

Options:

61547534933,
61547534934,
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Question Number : 59 Question Id : 6154758961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154753449355

E1547534924.
E1547534935.
515475349356,
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Question Number : 60 Question Id : 6154758962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547534937, 1
61547534928, 2
61547534939, 3
E1547534940. 4

Question Number : 60 Question Id : 6154758962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534937, 1
61547534928, 2
61547534929, 3
61547524940, 4

Question Number : 61 Question Id : 6154758963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524941, 1
E1547534942 2
E1547534943. 3
51547534944, 4

Question Number : 61 Question Id : 6154758963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘qieT: wegE WA FE 9Eend 99 ¢

(1)  =gHn 2 T
(3) I (4) Fq:

Options:



E1547534941. 1
61547534942 2
61547534943 3
61547534944, 4

Question Number : 62 Question Id : 6154758964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547534945 1
61547534946, 2
61547534947, 3
E15475349458. 4

Question Number : 62 Question Id : 6154758964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534945 1
61547534946, 2
E1547534947. 3
E15475349458. 4

Question Number : 63 Question Id : 6154758965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475349459. 1
E1547534950. 2
61547534951, 3
61547534952, 4

Question Number : 63 Question Id : 6154758965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524949 1
E1547534950. 2
E15475345951. 3
61547534952, 4

Question Number : 64 Question Id : 6154758966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524952 1
E1547534954. 2
E1547534955. 3
61547534956, 4

Question Number : 64 Question Id : 6154758966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547534853. 1
E1547534954. 2
51547534955, 3
51547534956, 4

Question Number : 65 Question Id : 6154758967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547534957, 1
61547534958 2
£1547524959 =2
615475234960, 4

Question Number : 65 Question Id : 6154758967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547534957. 1
61547534958, 2
51547534955, 3
61547534960, 4

Question Number : 66 Question Id : 6154758968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547534961, 1
61547534962 2
615475349632 2
61547524964, 4

Question Number : 66 Question Id : 6154758968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534961, 1
61547534962 2
61547524962 5
61547534964, 4




Question Number : 67 Question Id : 6154758969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547534965. 1
B1547534966. 2
61547534967, 3
615475349658, 4

Question Number : 67 Question Id : 6154758969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) = (2) W=
(3)  =cariEm (4) TEETaTiE
Options:

E1547534965. 1
E154753496E. 2
E1547534967. 3
E1547534968. 4

Question Number : 68 Question Id : 6154758970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘g g feemfEedts e’ sk wfrass e
(1)  SaaET=E (2) TFETEA

(3) =L (4) WE=
Options:
15475349659 1
E1547534970. 2

E1547534971. 3
B1547534972. 4

Question Number : 68 Question Id : 6154758970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘i F9F fFemeed s StEal:’ st wfaass w7

(1) SqaET= (2) AFETEH

(3)  TE: (4) "REH
Options:
61547534969 1
61547534970, 2
61547534971 2
61547524972, 4

Question Number : 69 Question Id : 6154758971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TSR BIAG 99 Fead 91 goal T vat 7

(1) T (2 =am:
(3)  THhe: (4) voE®:
Options:

61547524972 1
E1547534974. 2
E1547534975. 3
B1547534976. 4

Question Number : 69 Question Id : 6154758971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e T A 1 g o R 7

(1) qoh: (2) =am:
(3) T (4) Yoo
Options:

615475349731
61547534974, 2
61547534975 3
61547524976, 4

Question Number : 70 Question Id : 6154758972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tlfl:q_;l RIS Eﬂh"ﬁ ?ETTEFET T T orifa ?
(1)  wfamgmay (2) Fg=Ram
(3)  TEAH (4) <FFEH



Options:

61547534977, 1
61547534978 2
E15475234979 2
615475234980 4

Question Number : 70 Question Id : 6154758972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬂgﬂﬁ?ﬁﬂﬁﬁé&?ﬁmﬁm%ﬂﬁ%?

(1)  wfegmam (2)  FCgSIiday,
(3)  TITHAM (4) I
Options:

E1547534977. 1
B1547534978. 2
B15475349759. 3
61547534950, 4

Question Number : 71 Question Id : 6154758973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Toramen vg fafaes feofa?

1) T (2) FHwY
(3) w ==Y (4) =Fm
Options:

515475234981, 1
61547534982, 2
E1547534983. 3
E1547534984. 4

Question Number : 71 Question Id : 6154758973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o wg g fFafe e

(1) =y (2) FH
(3) " ==Y (4) =M
Options:

61547524951, 1
61547524982, 2
E1547534983. 3
E1547534984. 4



Question Number : 72 Question Id : 6154758974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘iR aefiaT T v - o e 7

(1)  FrewmEmHE (2) TEETRET
(3) T (4) ITERHHE]
Options:

61547534985, 1
61547534986, 2
E1547534987. 3
E1547534988. 4

Question Number : 72 Question Id : 6154758974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘EEturTEETE s gEiquiETETE T yEEd - sfo e v

(1)  FREwETEE (2) dyEEEET
3  FEn (4) SYHTETHIET
Options:

61547524955, 1
61547524956, 2
E1547534987. 3
E1547534988. 4

Question Number : 73 Question Id : 6154758975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEegNHal AFTESEl 9 3O § fhgead ¢

(D SIEE (2) FERia:
Q) s 4) Tufats:
Options:

E1547534959. 1
E1547534930. 2
61547534951, 3
615475349392 4

Question Number : 73 Question Id : 6154758975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TGl ATl 9 T § g ¢

(1 SIEE (2) aTERiaE:
S R (4) Tt
Options:

E154753495%9. 1
E15475349380. 2
E15475349391. 3
B1547534992. 4

Question Number : 74 Question Id : 6154758976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEERYHER geEcaaTaurRa AT arad fHgead ?

(1)  HerEruEEay (2) wIEACIREEE
(3)  AHEAHRATCHCTETEI (4) Rl

Options:

61547554993, 1
61547534994 2
61547534995 2
615475349396 4

Question Number : 74 Question Id : 6154758976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FERYHER gEeaaT Rt faaEs arad fhgead ?

(1)  HeEuEEay (2) TUEATCI oA
(3)  GHEEHATCHTETI (4) TloraETEEy

Options:

61547534993, 1
61547534994 2
615475349395 2
61547534996 4

Question Number : 75 Question Id : 6154758977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  HyEmy. ©@) FwarTE
(3)  TEREZEERA: (4) I

Options:

61547534997, 1
£1547534998 2
£1547524999 =2
61547535000, 4

Question Number : 75 Question Id : 6154758977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GETEVEEIREaE e T
(1)  HyaEm. @) FyEreneE.
(3)  TEEREZEEA: (4) I

Options:

61547534997, 1
£1547534998 2
£1547524999 =2
61547535000, 4

Question Number : 76 Question Id : 6154758978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TqEaNT: T2 HIgd R TA0 FH9 0T ?

(1)  FHaTEHRE, (2) STEHATRHTY
(3)  EHATEHEHATEHRRIE (4) FfrmwRre
Options:

61547535001, 1
E154753500Z2. 2
61547535003, 3
E1547535004. 4

Question Number : 76 Question Id : 6154758978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TqEaNT: T2 HIgd R TA0 FH9 0T ?

(1)  FHaTEHRE, (2) STEHATRHTY

(3)  AHITEIYOTEERRIE (4) Ffresrom

A T



Options:

61547535001, 1
61547535002 2
E1547525002. 2
61547535004, 4

Question Number : 77 Question Id : 6154758979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y I 3fd AR eI ETea IREdS 3gEa Tod fhafisag ?

(1)  avF-fa-aahamTH (2) wideafdfc Fm9
(3) T T, (4) AafEETETES THE
Options:

E1547535005. 1
E1547535006. 2
61547535007, 3
51547535008, 4

Question Number : 77 Question Id : 6154758979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT AT 3f0 AR RIHTEaT TRES egEe v fhafisag ?

1)  EvE-farE g 2 wfreafifics a9y
(3)  Fafewd IHg (4) AafoEaguEra® I9E
Options:

51547535005, 1
61547535006, 2
61547535007, 3
E1547535008. 4

Question Number : 78 Question Id : 6154758980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FiEEeT AEIENEAD grh—gau'tlv-lﬁﬂ?ﬁbﬁ}ar%: Hi—as: &: 7

(1)  FH-EAG: (2) FHESET:
(3)  AHFEFHET: (4) ==
Options:

E154753500%3. 1
E1547535010. 2
61547535011, 3
61547535012 4



Question Number : 78 Question Id : 6154758980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FIREECE] FEARIFAY Jh-FeaHaqIsell e Fi-idn: &: 7

(1) HHT & (2) FAHIHT:
(3)  HHFEFHCE: (4) T
Options:

E154753500%3. 1
E1547535010. 2
61547535011, 3
61547535012 4

Question Number : 79 Question Id : 6154758981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘U FETTEl SoU H{Y 300 vied: HIEE—IY gd4 7

(1)  37age (2) wEeH
(3)  sfuwwe (4) Tead
Options:

615475350131
61547535014, 2
E1547535015 3
E1547535016. 4

Question Number : 79 Question Id : 6154758981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘s1ora safemar’ s ww sl wes: wfa=d ada ?

(1) 3T (2) TEeTd
3) R 4) e
Options:

E1547535013. 1
61547535014, 2
61547535015 3
61547535016, 4

Question Number : 80 Question Id : 6154758982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



seisfeay Fagre s -
(1) GawEE: (2) dTrfe:

3 = (4) TAWIH=:
Options:
61547535017, 1
61547535018, 2
615475350149 2
61547535020, 4

Question Number : 80 Question Id : 6154758982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wgisfedy Fagrw arssnsia -

(1) GawEE: (2) drfig:
3 = (4) TAWIH=:
Options:

515475350171
61547535018, 2
615475350149, 3
61547535020, 4

Question Number : 81 Question Id : 6154758983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

JEFaeEE ISR IR —
(1)  s9tweafEey (2) dFEEHEREn

o]

3)  dar: 4) I
Options:
615475350211
61547535022 2
61547535023 3
61547535024 4

Question Number : 81 Question Id : 6154758983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATACEE ITS A Rad —
(1)  STFweERET (2) dSEEElRET
(3)  da&n (4) IFT:




Options:

61547535021, 1
61547535022 2
E15475325022. 2
61547535024, 4

Question Number : 82 Question Id : 6154758984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Cfaferergmy | s dgratagae Sfoseraisia -

(1) et (2) TEHS:
(3) Tagmiay: (4) dorea:
Options:

E1547535025. 1
61547535026, 2
E1547535027. 3
B1547535028. 4

Question Number : 82 Question Id : 6154758984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ii . : ¥ Y = = Y
E%I ﬁl?ﬁaﬁq s dol-dltggl-adtd HlaboNenlsl =

(1) 9= (2) THES:
(3) fegmfag: (4) =eiea:
Options:

E1547535025. 1
E1547535026. 2
B1547535027. 3
61547535028, 4

Question Number : 83 Question Id : 6154758985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT T ccecveeceneneeeenn. | SO0 REAEAH 3791SSAY T Aiasiia—37g#a 9879 7

(1) =myq (2) wmIE:
(3)  AEH (4) =GR
Options:

61547535029, 1
E15475350230. 2
E1547535021. 3
51547535032, 4



Question Number : 83 Question Id : 6154758985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1) = (2) @Y
(3) HEHAY (4) grIm
Options:

61547535029 1
61547535030, 2
E1547535021. 3
E1547535032. 4

Question Number : 84 Question Id : 6154758986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  Fem sfErms (2) ‘wemen: sfo A
(3) ‘e 5T AT 4) ‘Tu’ s g

Options:

61547535033, 1
61547535034, 2
61547535035 2
E1547535036. 4

Question Number : 84 Question Id : 6154758986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT GEAEERY eiwE: s Tev A

(1) Tz sfamms (2) ‘veEer: sfd @y
(3) ‘IwH 30 AR 4) ‘=g’ sk g

Options:

61547535033, 1
61547535024 2
61547535035 2
61547535036 4

Question Number : 85 Question Id : 6154758987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) Heq (2) T
@) g (4)
Options:

61547535037, 1
E1547535038. 2
E15475350239. 3
61547535040, 4

Question Number : 85 Question Id : 6154758987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ey, FHaal et ¢

(1) e, (2)  ITFTHT:
@) = (4)
Options:

E1547535037. 1
615475350238, 2
61547535039, 3
61547535040, 4

Question Number : 86 Question Id : 6154758988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ey Famn Eogfoaite -

(1)  wog& Jomm (2) =
3) T @) wf:
Options:

61547535041, 1
E1547535042. 2
E1547535043. 3
51547535044, 4

Question Number : 86 Question Id : 6154758988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



LY, FaaT Eoafoaife -

o

(1)  woge Jomm (2) =
(3 Fa @) wf:
Options:

E1547535041. 1
E1547535042 2
61547535043, 3
61547535044, 4

Question Number : 87 Question Id : 6154758989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

F=ferfigary vy @ #ifeg ?
(1)  wfmErEy (2) Tt
(3)  HElEwTE: (4) SfiEER:

Options:

£1547535045. 1
E1547535046 2
61547535047, o
61547535048, 4

Question Number : 87 Question Id : 6154758989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=ferfigary Y = #ife ?

(1)  wfdamesg (2) TSI
(3)  TofE=E: (4) avffEeEn:
Options:
1547535045 1
C154752504E. 2

E1547535047. 3
E1547525048 4

Question Number : 88 Question Id : 6154758990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘TEEEE IRkay wE s 7
(1) e (2) ST

3) FeE @ T

Options:
61547535049 1



E1547535050. 2
51547535051, 3
51547535052, 4

Question Number : 88 Question Id : 6154758990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
i . '
TAHTEETE IRaH e TS ¢

(1) faegmre (2) uftweETETe
(3)  FHeew=H (4) TR:

Options:

61547535049, 1

61547535050, 2

E1547E3E051. =

61547535052, 4

Question Number : 89 Question Id : 6154758991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘IERYRTE: WEAT ARG IFTHT HET A 7

(1) R B T (2) <
3)  fagmmmer= (4) AH-CaETE
Options:

51547535053, 1
61547535054, 2
61547535055, 3
E1547535056. 4

Question Number : 89 Question Id : 6154758991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘IERYRTE: WEAT ARG IFTHT HET A 7

(1) g (2) <=
(3) fawearer= (4) 3TH-cadT=
Options:

51547535053, 1
61547535054, 2
61547535055, 3
61547535056, 4

Question Number : 90 Question Id : 6154758992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘aqT gafd IgEUIYe e 9dd 7

(1)  a7fyemET (2) wet ITEHTEIE:
(3)  THEISH SUEHIE: (4) & TEFCEIET:
Options:

61547535057, 1
61547535058, 2
E1547535059. 3
E1547535060. 4

Question Number : 90 Question Id : 6154758992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘yaqt grafd Iareuriig w9 Fdd ?

(1)  famEn (2) = STEHTEET:
(3)  THISH SUEHEEIE: (4) & FHIEIET:
Options:

61547535057, 1
E1547535058. 2
E1547535059. 3
B1547535060. 4

Question Number : 91 Question Id : 6154758993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A Alfed T FHd= & -

(a)  fT wEEH

(b)  HTEd WH

(c) aifed: o

(d)  IEifd 37e

() (@73 (o) (2) (b)TE ()

(3  (BTE ) 4) (2)Ta (d)
Options:

B1547535061. 1
61547535062, 2
61547535063, 3
61547535064, 4

Question Number : 91 Question Id : 6154758993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT " HTfeed TEE = Fa -

(a)  ¥fo s

(b) & WH,

(c) Ffed:

d) gt 7en

1) (@ (o) 2) ()T ()

(3 ()T () (4) (2)TF (d)
Options:

615475350681, 1
E1547535062. 2
E1547535063. 3
61547535064, 4

Question Number : 92 Question Id : 6154758994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
N
=hdlY EI"SI é IO 391 & —

(a) 379 99: gfgwi<)

(b) T aEE: Yayid 97eH |
(c) e wed fatg)

(d) | YT gHE T

(1) ()T (d) (2)  (b)vaH (d)
(3) (a) ¥4 (c) (4) (b) UH ()
Options:

51547535085, 1
61547535066, 2
61547535067, 3
E1547535065. 4

Question Number : 92 Question Id : 6154758994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FE NG 0T 3ol &: —

(a) a9 70 ufamf=|

(b) 7 FEEH: Tfagr S|
(c) areaH W fafg)

(d) YT gHE T

(1) (2T (d) (2)  (b)uaq (d)
(3) (2T (o) (4) (b) T (c)
Options:

E1547535065. 1
61547535066, 2
B1547535067. 3



E1547535068. 4

Question Number : 93 Question Id : 6154758995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
” ’
TYTERT 9y W &

(a)  FTACHETAL:

(b)  dfdEetam:

(€  VAIASTEE

d) A=

(1) (@& (d) (2) (b)) T ()

(3)  (d)TFH (c) 4) (b) TaH (d)
Options:

615475350649, 1
E1547535070. 2
61547535071, 3
E1547535072. 4

Question Number : 93 Question Id : 6154758995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
” ’
TYTERT 9y W &

(a)  FTACHETAL:

(b)  dRFEERaE:

(€  VAIASTEE

d) A=

(1) (2 7= (d) (2) (b)) UH ()

(3) () (c) 4 (b) v (d)
Options:

615475350845, 1
61547535070, 2
61547535071, 3
E1547535072. 4

Question Number : 94 Question Id : 6154758996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘s’ wTee I % we TR wEtEEe ?

(1) ¥ - [H (2) Tud - gz
(3) =gl - g (4) W — T
Options:

615475350731
61547535074, 2
E1547535075. 3
E1547535076. 4

Question Number : 94 Question Id : 6154758996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘st STeg A & FREH [GUHI THETE 7

(1)  ¥¥AT - g (2) TuH - g

(3) =gl - gz (4) s — T
Options:

615475350721
E1547535074. 2
E1547535075. 3
B1547535076. 4

Question Number : 95 Question Id : 6154758997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HYfciiigny FHHared TIFHETEa-aIeHSaTay= =ar, -

(1) ==l adedE, FEdif 9, sEmn. () Rl awen:, = amn, e
(3)  gHmEE, ®owH, 9599, (4) wE I, gEE faw, e

Options:

61547535077, 1
61547535078 2
61547535079 2
61547535030 4

Question Number : 95 Question Id : 6154758997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



NYigdy FHaTed TIhHHaTca-aIGaSaTay= Ty —
(1)  =a=g guad, a9difd gwaed:, s@ay. (2)  fuxfomn: e, w=fem: omn, ek
(3)  wgHE, Head, 9599 (4) wHE I, gEE fEy:, 3 TsE,

Options:

61547535077, 1
61547535078 2
61547535079, 5
61547535080 4

Question Number : 96 Question Id : 6154758998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

OUF ITeGHNT FIET HRHEGHHH] FA: i, oI ¢
(1) =g - gadt - seifashAmy (2) g - =gt - gadfifaaham
(3) e - g - gadifrashiamg 4) TEdr - v - gEHifEEEET

Options:

61547535081, 1
61547535082 2
E154753250832. 2
61547535084, 4

Question Number : 96 Question Id : 6154758998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qUF, ITeGHNT FIET HRBGHHH] FA: i, o ¢
(1) =g - gt - sifashAmy (2) g - =gt - gadfifaaham
(3)  Tedffar - qdffar - sefifashamg (4) ToHl - v - gEHifEyET

Options:

61547535081, 1
61547535082 2
E154753250832. 2
61547535084, 4

Question Number : 97 Question Id : 6154758999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEMEHER 8 3HEsd Faa: digan gafd ?

()  TEcqeHs:, 9991 = (2) famcism:, EeTcEeRE
(3)  WYIETEH, EEITHeeE (4) gEvEaE
Options:

E1547535085. 1
E1547535086. 2
B1547535087. 3
61547535088, 4

Question Number : 97 Question Id : 6154758999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

b= i"‘“?

FRHfEgan 8 semyaEes aaw: fige waf

()  TEoaeHst:, 999 = (2) faweism:, EeacneTy
(3)  JYTETIH, TEEATHS (4) FETHETE
Options:

61547535085, 1
61547535086, 2
E1547535087. 3
E1547535088. 4

Question Number : 98 Question Id : 6154759000 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FEIUEE ® EEaEE

(1) 7% =5 (2) == 9fd: Y=
(3) g faav= (4) <ITE: UvETT
Options:

51547535089, 1
61547535030, 2
61547535031, 3
E15475350382. 4

Question Number : 98 Question Id : 6154759000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EREIGp R PIPE] el

(1) 7% $599 (2) == 9 YE=
(3) g faav= 4) ZaE: wrtarE
Options:

E1547535089. 1



E15475350380. 2
51547535081, 3
61547535082, 4

Question Number : 99 Question Id : 6154759001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

vy fvEaEtE -

(a) TEHIUIH

(b)  FHIFALUEH

&ﬂ Eﬁﬂgﬂﬂﬂ{

(@ gy

() (2T (b) (2) (a)TF (c)
(3 (@U@ 4) () vE (d)
Options:

51547535083, 1
61547535034, 2
61547535035, 3
E1547535036. 4

Question Number : 99 Question Id : 6154759001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ey faveanfa -

(a) gAY

(b)  FEAITLHH

(c) E@E{'WT{

(d)  wfagoom

1) (@ (b (2) (@) (o)
(3  (©TF @) 4) (b)TF ()
Options:

E1547535083. 1
E15475350384. 2
51547535085 3
515475350386, 4

Question Number : 100 Question 1d : 6154759002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 L ()
TETYRAgTs o4 hed Halsed =ay -

(a)  TomEEEyg
(b)  HAvefEEfayg

(c) {931

(d) SR

() (273 (o) (2) (a)TF (d)
(3 (BTE 4) (2) T3 (b)
Options:

615475350397, 1
E15475350388. 2
E1547535095. 3
51547535100, 4

Question Number : 100 Question Id ;: 6154759002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HRYRAgTS = e HgehTeg = -

(a)  TemITeEEy
(b) AvefEEfay

() I

(d) ST

1) (@U (o) 2 (a)Td (d)
3) () TE (d) 4) (2)ua (b)
Options:

E1547535087. 1
61547535088, 2
6154753503949, 3
E1547535100. 4

Question Number : 101 Question Id : 6154759003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT TETgReTTd $i Sasad: ?

(a) SR

(b) HATHF

(c) =g

(d) g

g BT -

(1) (2) 73 (b) (2) (e) T (d)
(3) (2) TF (c) (4) (®)TE (d)
Options:

515475235101, 1
61547535102 2
£1547535103. 3
61547525104, 4

Question Number : 101 Question Id : 6154759003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATRECHIHd T EHTgReId Hi Iadaa: ?

(a)  SgrEAtTEY
Uu) EIEFEH{

(c)  UsE9Iq

d)  qEEEH

g BT -

(1) (2)7F (b) (2) ()T ()
(3) ()T (o) (4) (b) T3 (d)
Options:

51547535101, 1
61547535102 2
61547535103, 3
61547525104, 4

Question Number : 102 Question Id : 6154759004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATFaeHAad 95 Fi Fgeaq: ?

(a) e,
(b) HHH
()  HHm

(d) Hehoehd]

g =Ea -

() (2T (@) (2 ®)TF (o)
(3) (0T @) (4) (a)Ta (d)
Options:

E1547535105. 1
51547535106, 2
61547535107, 3
61547535108, 4

Question Number : 102 Question Id : 6154759004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qIFac#aqd I8 &I 3f-asdaq: ?

(a) e,
(b)y E=HH
(¢ THg

(d) Hehtrahd]

TG =a -

() (2)TF (@) 2 B)TE ()
(3  (©TE @) 4) (a)T3 (d)
Options:

£1547535105. 1
E15475351086. 2
E1547535107. 3
51547535108, 4

Question Number : 103 Question Id : 6154759005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AFICFIIER & FHE I-a99a: ?

() @9 99" (2) <©F I3g
(3) fovamfea: ena (4) wHTEG
Options:

E1547535108. 1
E1547535110. 2
51547535111, 3
615475351172 4

Question Number : 103 Question 1d : 6154759005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATFETHIER & FHadisaHad: ?

(1) H: T34 (2) ©H 35g
(3)  fovagfed: ena (4) wH AL
Options:

515475351051
61547535110, 2
61547535111, 3
E1547535112. 4

Question Number : 104 Question Id : 6154759006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HHTERETIER AaTETHa & el ?

(1)  shead: o wRig (2) TEwh: 37 WAy
(3)  wead: TeNd: 3vEig (4) T wHead: TEeiy
Options:

615475351121
61547535114, 2
61547535115 3
61547535116 4

Question Number : 104 Question Id : 6154759006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HHTERETIHER SaTaa T & sfasel-d ?

(1)  wead: e wRig (2)  gEwh e WAy
(3) oY TeWd: 3vEig (4) T Head: TENy
Options:

515475351121



E1547535114. 2
51547535115 3
51547535116, 4

Question Number : 105 Question Id : 6154759007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ARy ER TUEE T & sfayed: ?

(1)  Icaf: ge=fas (2) fo=f: v=fia
(3)  wwfa: el (4) ot ywlva
Options:

BE1547535117. 1
61547535118, 2
615475351149, 3
61547535120, 4

Question Number : 105 Question Id : 6154759007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HETETIRETYHER TUHH & F=ved: ¢

(1)  Icafn: aw=fda (2) fo=f: v=fia
(3)  wEpld: gl 4) a7l vl
Options:

61547535117, 1
61547535118, 2
E1547535118. 3
E1547535120. 4

Question Number : 106 Question Id : 6154759008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR o THEIT Ua TaTed a9y &0 | 1 9 9 9h w9 ?

(1)  HEEEn, fGugeen, gegaen, FaihaEyacey, deataiad =
(2)  T&EwH, guaeEn:, Srgsmat:, sEteatayacay, sefiages
(3)  waHwH, giEEEl, Eugea:, sEeaaTaeay, e
(4)  uEEwE, gugew, reemgh:, aiftateyacen, gofoeamay

Options:
£1547535121. 1

B1547535122. 2
61547535123, 3
61547535124, 4




Question Number : 106 Question Id : 6154759008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR 8 IR U9 TETed w19y & | B T 9 9h w9 ?

(1)  HEEEn, fGugewn, gegeaEn, Fateaayacey, deaiaiaey =
(2)  T&gwY, guEeEEn:, Hugemat:, sErgatavacey, gofdigeay
(3)  u&Hwd, gugewd, Hugegh:, saimiasaeay, smoiiemas
(4) oG, guEeEs, rgea:, aiftheygoen, gofiraay

Options:
615475351211

E1547535122. 2
E1547535123. 3
51547535124, 4

Question Number : 107 Question Id : 6154759009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TGTCI:I?BITJT: _m‘cl?aﬁ'[: EI:!T'E:?

(1)  TraEr, seEdE: (2) THFITH, FEHATRHRIY, 3Tl
(3)  wHaTHwRUH, favmiEE: (4) TEFTTH, TS

Options:

615475351251
61547535126 2
E1547535127. 2
61547535128, 4

Question Number : 107 Question Id : 6154759009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

?IE?FFEIT?T: En‘r"‘lqﬁ'[: EI:!T'E:?

()  TramEr, semEdE: (2) WHFHEH, FEHATRHROY, T
(3)  wHaTHHRUH, faemiEE: (4) TEFETH, TR

Options:

61547535125, 1
61547535126 2
61547535127, 2
1547535128 4

Question Number : 108 Question Id : 6154759010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SfegFae & @& wad: -

(a)  IRgeE-eRizal garse: |

(b)  shgam WEETEw: TR
(¢  HAfgdEasgH — Fraifsaarom|

(d) &= = w=gi

()  (b)TE (@) (2) ()T (a)
(3) (T @ 4 (273 (c)
Options:

615475351291
E1547535120. 2
E1547535121. 3
B1547535132. 4

Question Number : 108 Question Id : 6154759010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SagFae & &0 Wad: -

(a)  SFfgeareRizal sarfse: |

(b)  shgam Wiavaw: g
(¢  wAlgdmasgH - sraifszarm)

(d) &g = w=H|im|

(L (BT @ (2) (© W (a)
(3) (2T @) 4) (2)7F (c)
Options:

E1547535129. 1
E15475351230. 2
61547535121, 3
61547535132 4

Question Number : 109 Question Id : 6154759011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘Toagfg’ sfi e srEverRiE ydildaracy giedat & fawedt gafreartat @ -

(a) IS IR

(c) Sagagee &l

d)  IEeaETEl

(L) (B)TE @) (2) (@ (o)
(3 (@U@ 4) (©TF ()
Options:

£1547535133. 1
E1547535124. 2
£1547535135. 3
51547535136, 4

Question Number : 109 Question Id ;: 6154759011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ty’ sfd 9 srgveriE udildaracs gieat it fTwedt maireeat @ -

(a) B SIS IR
(b)  SiETerEIEn

(c) S Rlels R L B2

d)  FEeTEIEl

(L) (®TE @) (2) (@ (o)
(3  (@TE @) (4) () TF (d)
Options:

L1547E35133.
L1547535134

51547535135,
61547535136,

o LI M

Question Number : 110 Question Id : 6154759012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TREEEAERY faEdt = -

(@) g

b) T

(¢)  wgHq

@ =

1) ®UE (D) (2) (2)Td (d)
3) (U (d) 4) ()T (c)
Options:

61547535137, 1
61547535138, 2
E1547535139. 3
E1547535140. 4

Question Number : 110 Question Id : 6154759012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FRAEAHERY faEdT @ -

(@) g

b

()  9gHH

@ =

1) O UE () (2) ()T (d)
3) ()T (d) 4y ()T (o)
Options:

61547535137, 1
E1547535138. 2
E1547535139. 3
51547535140, 4

Question Number : 111 Question Id ;: 6154759013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FlgaegEny FHar g =

(a)  TEIMEE:

(b)  HhATa:

(c)  TE:

(d)  Fures:

1) (2) T (@) 2) ()T (d)

3 O () 4 (@ (0
Options:

E1547535141. 1
B1547535142 2
51547535143, 3
61547535144, 4

Question Number : 111 Question 1d : 6154759013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEEHGERY FHTT g =

(a)  ATEIEE:

(b)  EhET=:

(c)  FHER:

(d)  duriys:

1) (2T (@) 2) (b)uA (d)

3 BT 4) (@) (o)
Options:

£1547535141. 1
E1547535142. 2
E1547535143. 3
B1547535144. 4

Question Number : 112 Question Id : 6154759014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TR EAHERT Jafaeriaay 7 70

(@) e
(b) H:

()  @fEm

& T

1)  (@UE() 2) ()T (d)
3 (@U@ 4 (@ ()
Options:

615475351451
E154753514E. 2
E1547535147. 3
51547535148, 4

Question Number : 112 Question Id ;: 6154759014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HTEd SEHIERY ygiEsTTey 7 T

(@) e

(b) HA:

()  @fEm

@ T

1) (2TE @ @  (®)TF @
3 (@U@ 4) @7 ()
Options:

E1547535145. 1
61547535146, 2
61547535147, 3
E1547535148. 4

Question Number : 113 Question Id : 6154759015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



efetigay o o qoitgaeaeT=ed samgan g ?

(1)  F[easTgq, AWGASTIH,

(2)  TTAgASTASIY, A T
(3)  WEeAgiad, FugeagTan
(4) qeadEE<4g7dq, oqs;*ﬂlafq?slt[

Options:

61547555149, 1
61547535150 2
61547535151, =
61547535152 4

Question Number : 113 Question 1d : 6154759015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
f=fafiany & F99 TiygsTas agmger 90m ?

(1) Hedgrayq, AWFHGIY,

(2)  ITAEgASTASIY, I T
(3)  TgeAsTad, Fousemean
(4)  GEUETEASTIY, EARNEE

Options:

61547535149, 1
61547535150 2
1547535151, 2
61547535152, 4

Question Number : 114 Question Id : 6154759016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘31y9: 7l gEfd seafe v %1 gfwfe ?

(1)  EHT STEHSETT Bel (2) TR AT
(3)  TESH TR 3TEH A& 1) ©S R TS
Options:

615475351521
61547535154, 2
E1547535155. 3
51547535156, 4

Question Number : 114 Question Id ;: 6154759016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

‘v yaqt gEfd s SEE @ gioted ?

(1) R SYEHTET Eet (2) TR AGUHE
(3)  FHISH WRIT IS &0 (4) e TRT SEEE
Options:

E1547535153. 1
51547535154, 2
51547535155 3
61547535156, 4

Question Number : 115 Question 1d : 6154759017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T -
(1)  SAaEmMaareay, e ihaarsay
(2)  IEATHIASI, TIETH
(3)  HAFaTEmHaaTeay, ez

(4)  FTAEHaAreaY, FT-afEhTe I

Options:

61547535157, 1
61547535158 2
£1547535159. 2
61547535160, 4

Question Number : 115 Question Id : 6154759017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
eafe e -
(1)  FAAFEEmEaaaE, T,
(2)  IEAEHIASTI, AAITTH
(3)  HAFaTHmHaATA, e aTiEan

i [t
(4)  IFOAEHaATeaH, T laUahaeas aq,

Options:

615475351571
E1547525158. 2
61547535159,
61547535160 4



Question Number : 116 Question Id : 6154759018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST 34 U8 FE4 G 7 gYFEl amfeh] B -

(a) e AT g fadm @)  FeHTg
(b) HTEEH EEAda Gi) fewemigT
() T (iil) ATHEEEE
(d) T % T 9T (iv) gevgaa

1) (a)-@). (b)-(v). (c)-(ui). (d)-(a1)
2)  (a)-@). (b)-Q). (c)-(i1). (d)-(v)
3)  (a)-@). (b)-Gii). (c)-(v). (d)-(1)
@  (a)-@). (b)-(), (c)-(). (d)-(11)

Options:

61547535161, 1
61547535162 2
E15475351632. 2
61547535164, 4

Question Number : 116 Question Id : 6154759018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y, 4 U8 FL4 wrae: 7 gyl aifesst R -

(a) e AT gfaw fadm @  wehg
(b) TG @HEAd (i) Ty
() aEHTIZUSSTEd (i) ATHEEEE
) T % T 9T (iv) TENgEd

1) (@-@. 0)-av). (c)-Gi1). (d)-1)
@) (a)-@). (0)-Q). (e)-(1). (d)-Gv)
3)  (a)-). (b)-Gu). (c)-Gv), (d)-G)
@)  (a)-av). (b)-(). (c)-(). (d)-G11)

Options:
61547535161, 1
61547535162 2



E1547535163. 3
51547535164, 4

Question Number : 117 Question Id : 6154759019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FYIfcigdy 7 T8 F7 gra-9: ¢ G arfos f=ga -

(a) FHEH () = yeEEan g
(b) =l @) Tewmg F1Y

G W Gii) T T 3
d) F (iv) ©F YoIgag e

(1) (a)-Gai). (b)-(). (¢)-(v). (d)-(11)
2)  (a)-@). (b)-(), (c)-(v). (d)-(11)
(3)  (a)-Gv). (b)-(11). (c)-G). (d)-(111)
@) (a)-). (b)-Gii). (c)-Gv). (d)-(1)

Options:

61547535165, 1
61547535166 2
61547535167, 2
E1547525168. 4

Question Number : 117 Question Id : 6154759019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

eifafiaiy 3 e o1 g 7w arf -

(a) FEH @) = T S
(b)  ATgEf (i) femrg €

@ ¥ (i) ‘TR SeERT Y
(d) AT (iv) ‘&% IR e

1) (@-G). ()-(). (@)-Gv). (d)-()
2)  (a)-@). (b)-Q). (c)-v). (d)-(111)
3)  (@-Gv). (b)-(). (e)-@). (d)-(11)
@)  (@-@). (b)-an). (e)-av). (d)-G0)



Options:

61547535165, 1
61547535166 2
1547535167, 2
61547535168, 4

Question Number : 118 Question Id : 6154759020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘31’ g giEiaE W @ue 9iehd: 92 auEeg g |

H AT
(@) g G sl
(b) AT (i) W
() wM: (iii) 2o
(d) w: (iv) ¥fe:

(1) (a)-Gi). (b)-(w). (c)-(1). (d)-()
(2)  (a)-Gu). (b)-(11). (c)-Q). (d)-(v)
(3)  (a)-v). (b)-Gii). (c)-(1). (d)-(2)
@ (a)-@). (b)-Gii). (c)-Gv). (d)-()

Options:

61547535169, 1
61547535170 2
61547535171, 2
61547535172 4

Question Number : 118 Question Id : 6154759020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘37’ e giEaE AT @ue 9 92 IuEng g |

H =201
(2) ¥ @ s
(b) =gHm: (i) 3
() i (iii) zfer:
(d) =if: (iv) e

1) (a)-a1). (b)-Gv). (c)-Gi), (d)-G)
2) (@-(). (b)-(1). (©)-0). (d)-Gv)
(3)  (@-Gv). (b)-Gi). (e)-(1). (d)-()
@)  (@-@). (b)-Gi). (e)-av). (d)-G)



Options:

61547535169, 1
61547535170 2
E1547535171. 2
61547535172, 4

Question Number : 119 Question Id : 6154759021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FYIARgaTy & §g FE gra-9: ? Fga] arferat o -
(a) gaEfeal (i) AT

(b) =TEITET (i) RS
(c) TewfaEfea (iii) TR
(d) TE9ETEE (v) TH-IUIH

(1) (2)-av). (b)-(11), (c)-(1), (d)-({)
(2)  (a)-Gn). (b)-1). (c)-Gv). (d)-()
3)  (2)-@. (b)-Gi). (c)-Gv). (d)-(i1)
@)  (2)-(). (b)-Gu). (c)-Q). (d)-Gv)

Options:

61547535173 1

61547535174 2

61547535175 3
E154753517E6. 4

Question Number : 119 Question Id : 6154759021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FYITAigay o ¥ F6 gra-9: ? Gl il = -
(a) gl (i)  HmgEEETgy

(b) =TEIET (i) TEEIUH
() TEwEEREal (i) FEIET
(d) TEIETEE (v) THguue

(1) (a)-Gv). (b)-Gi). (¢)-(1). (d)-G)
(2)  (a)-@1). (b)-(1). (0)-av). (d)-0)
(3)  (a)-Q@). (b)-G1i). (¢)-(v). (d)-(1)
@) (a)-G). (b)-Gn). (e)-Q). (d)-Gv)

Options:
615475351731



E1547535174. 2
61547535175 3
61547535176, 4

Question Number : 120 Question 1d : 6154759022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATFECH A FHIEAT qTfeisl = -

(a) Ffvgugyg (i) TeaeIEng

(b) e (i) gaviEEEEg
(¢ gy (1) HOIHEH,

(d) ETETE (iv) SEEEEEY

(1) (a)-av). (b)-Gi). (c)-Gid). (d)-{)
(2)  (a)-@). (b)-Gv). (c)-@). (d)-Gi1)
(3)  (a)-(1). (b)-Gv). (c)-Gi). (d)-G)
4)  (a)-(v). (b)-(id). (c)-Gi). (d)-()

Options:

615475351771

61547535178 2

61547535175, 3
61547535180, 4

Question Number : 120 Question Id : 6154759022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATFECH A e FHIEAT qTfers = -

(a) Tivgwa (1) TEGCIEE

(b) Sl (i) gaviTEag
() gy (1) FOIHEAA,

(d) @I (iv) FEEEET

(1) (a)-av). (b)-(i). (c)-G11). (d)-G)
2)  (a)-G). (b)-Gv). (e)-@). (d)-G11)
(3)  (a)-(1), (b)-Gv). (c)-(1). (d)-G)
4  (a)-Gv). (b)-Gi). (0)-(1). (d)-()

Options:
61547535177, 1
61547535178 2

615475351749, 3



E1547535180. 4

Question Number : 121 Question Id : 6154759023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a) WAGEETSTIEH, T 1)  HeadEaEoT
(b) AEM: (i) F&T:
(c) Ig@m: (iii) =TT
d) Tl (iv) IgN:

1) (@-@). (b)-av). (c)-(11). (d)-(111)
2)  (@)-av). (b)-(1). (c)-Gid), (d)-G@)
(3)  (a)-(m). (b)-(1). (c)-(v), (d)-()
@)  (a)-@). (b)-@). (c)-Gu). (d)-Gv)

Options:

61547535181 1

61547535182 2

61547535183, 3
E1547535184. 4

Question Number : 121 Question Id : 6154759023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HHHHEHER SH= A qifceT =ga 7

(a) FOEETSIIN TEHTeTHd Q)  Teadee
(b)  3TETY: (i) F&T:
(c) Igam: (i) =Terg
(d) faRmEE (iv) IR

1) (@-Q). (b)-(v), (c)-(1). (d)-(11)
(2)  (@)-av). (b)-(1). (¢)-Gid). (d)-()
(3)  (a)-@). (b)-). (e)-av). (d)-0)
@  (a)-@). (b)-Q), (c)-(11). (d)-(Gv)

Options:
£1547535151. 1

E1547535182. 2
E1547535183. 3
B1547535184. 4



Question Number : 122 Question Id : 6154759024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

yreifefiady #9177 g9 ? agfaar et foga -

(a) PETEG] geaTTE: G) e Ao, s, S

(b) TFETIEG] SeawTE: Gi) worfiuE:

(€) IR FrargTE: (iii) TRl g, sRfargeam, suewlagEg
(d) THUEH] FeaTE: (iv) weaisHwE:, FgTEn, g2

1) (a)-@: (b)-G). (c)-(G1). (d)-Gv)
(2)  (a)-Gv). (b)-Gib). (c)-G). (d)-(11)
(3)  (a)-Gu), (b)-(iv). (c)-(). (d)-(11)
4)  (2)-@). (b)-Gid). (c)-Gv). (d)-()

Options:

£15475351585. 1

61547535186 2

61547535187, 3
61547535188, 4

Question Number : 122 Question 1d : 6154759024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

eifefigny #5199 w8 gra-9: ? ggf=a arfos g -

(2) HAPHETRG! EeaTTa: G) weal Ao, e, e

(b) TAETHG! FeaTdTE: (i) wefa:

(c) 3T ZraTyTE: (iii) TERfEE gy, sRfargean, Semiaga
(d) SHOEE! AT (iv) wegisHwE:, FgTEn, g2

1)  (a)-O. (b)-(1). (c)-(111). (d)-(1v)
2)  (a)-Gv). (b)-Gib). (c)-@). (d)-(11)
(3)  (a)-G). (b)-(v). (c)-@). (d)-(11)
4)  (2)-@. (b)-Gi). (c)-Gv). (d)-(@)

Options:

61547535185 1

61547535186, 2

61547535187, 3
61547535188, 4

Question Number : 123 Question Id : 6154759025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SeisfEty 39 7 597 aeay: 7 o Ao S -

(a) 3TgamdH i) T
(b) SgTeTHan (i)
(¢ gadaq (i) TG

(d) gaTgTHI (iv) wea:

1) (a)-{). (b)-(v). (c)-(). (d)-(11)
(2)  (@)-av). (b)-(1). (c)-G). (d)-(i1)
(3)  (a)-). (b)-(1). (c)-Q). (d)-Gv)
@)  (a)-(n). (b)-(). (c)-(v), (d)-(1)

Options:

61547535183 1

61547535130, 2

615475351391, 3
615475351392, 4

Question Number : 123 Question Id : 6154759025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AFGISTERY 37 92 o GrEy: ? G Aol =0 -

(a) 3TgoHaH G) =
(b) TETeTH (i) T
() gaddq (i) TG

(d) gaTgTHdH (iv) W

1) (@-@). 0)-av). (e)-@. (d)-a1)
2)  (@-Gv). (b)-1). (¢)-@). (d)-(11)
3)  (a-G. ()-(1). (©)-@. (d)-Gv)
@)  (a)-G). (b)-(1). (e)-Gv). (d)-(1)

Options:

615475351389, 1

61547535190 2

51547535191, 3
61547535182, 4

Question Number : 124 Question 1d : 6154759026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FeEIsfeay 39 92 +99 9=-9: ? gyt aifos fage -

(a) FETTAEHTE: () =EEeEHT
(b) = JATHTEN HEYTH (i) dlgaEHn
(c) @=9aI: (i) =TEAA
(d) =R (iv) aeiiyEgEEg

(1) (a)-@). (b)-(n). (c)-G). (d)-Gv)
(2)  (@)-Gv). (b)-(1), (0)-(i1). (d)-(1)
(3)  (a)-Gi). (b)-(). (0)-(v). (d)-(1)
@)  (@)-G). (b)-(). (e)-Q). (d)-Gv)

Options:

61547535193, 1
1547535194 2
£1547525195 =2
61547535196, 4

Question Number : 124 Question Id : 6154759026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FeIsfeay 39 92 +99 9=-9: ? gyt aifos e -

(a) TG () = EEeEH
(b) 7 STHERN TR (i) gy
() Eag: (i) FNTey
(d) =R (iv) difyEeEg

(1) (a)-(m). (b)-(1). (c)-(2). (d)-(av)
(2) (2)-(v). (b)-(11). (c)-(i11). (d)-(@)
(3) (a)-(111). (b)-(D). (c)-(v). (d)-(1)
4) (a)-(11). (b)-(11). (c)-(). (d)-Gv)

Options:

6515475351931

1547535194 2

615475351395 3
E1547535196. 4

Question Number : 125 Question Id : 6154759027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i

37 AT 9EE] T Seadetaga s e |

‘ar’ — = - =t
(2) T () FgeEE
(b) TGEfEEhISaH I0q (i) EaEETERT
(c) FE=fqoTh—ITH (i) grETERIT
(d) geFTFETTY Gv) vl - g

(1) (a)-(11). (b)-(@). (c)-(i1). (d)-(v)
(2) (2)-@). (b)-(1). (c)-(11). (d)-Gv)
(3) (a)-(1). (b)-Gv). (c)-(1). (d)-(11)
4) (a)-(11). (b)-(11). (c)-(iv). (d)-(2)

Options:

61547535197, 1

61547535198 2

615475351949, 3
61547535200, 4

Question Number : 125 Question Id : 6154759027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘31 AT AT 3 Seaqaeagaead Hodd |
‘w1 - o -l
(a) HGBRATITH, (i)  SaETET
(b)  EMGEIBHIISTH I, (i)  ETETE
(©) FE-afderl-Iaq (ii) grEITeRTo
(d) germET (v) uwmEfaEfd - s

1) (a)-). (b)-Q). (c)-(1). (d)-(xv)
2)  (a)-). (b)-G1), (c)-(i1). (d)-(v)
3)  (a)-(1). (b)-Gv). (e)-@). (d)-(11)
“4)  (a)-(u). (b)-(2). (c)-Gv). (d)-()

Options:

61547535197, 1
61547535198 2
61547535199 2
61547535200 4



Question Number : 126 Question Id : 6154759028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AUHT TGO FIagETTHE S-aul gareH haarn -
(@) e
(b) STl
(0 &
(d 3

(1) (@ © ) (b) (2) (@ (d) (b) (a)
3) () © (@ (b) 4) @ ) (b) ()
Options:

E1547535201. 1
E1547535202. 2
61547535203, 3
61547535204, 4

Question Number : 126 Question Id : 6154759028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U G IaagEmE Bradl HareH Ghaa -
@  frd
(b)  SFTl
(@ T
@ 3

(1) (@ © ) (b) 2) (@ () () (@)
3  (d © (2 (b) 4) (@ ) (b) ()
Options:

E1547535201. 1
61547535202, 2
61547535203, 3
61547535204, 4

Question Number : 127 Question Id : 6154759029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



geft + sae = gregTe:| i vEEEEE SgEE - aTiEE iR et -
(1) % Ao, g s wh, Ao st @, sht =
(2)  won w9 @i, A gfise 9w, sl gut, sk e
@) ¥, T A, g e g, T afe o
@) 3= gulE, swfE =, wo S g, 9o sk T

Options:

61547535205, 1
61547535206 2
61547535207, 5
61547535208, 4

Question Number : 127 Question Id : 6154759029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt + ST = geer: | Ef SETETERTE SgEE G- AT E qEieRAl e -
1) v oo, g @ gl T it 9w, sk =
@ i S i, g0 sRRe 9., 36 guk, AR e
@) 3ty =, e A, e e g, T afee T
@) s Aul, 3@t =, o Wy 9l g afave)

Options:

£1547535205. 1
E1547535206. 2
61547535207, 5
61547535208, 4

Question Number : 128 Question Id : 6154759030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THEEAHER HARgaH e A9159: Fl: F: 7

(1)  fooom, 9T, T, o (2 &, fg=m, o, maa
(3) ¥, ma, 7, foem 4) To=m, g, 9=, T
Options:

61547535205, 1
61547535210, 2
61547535211, 3
E1547535212. 4



Question Number : 128 Question Id : 6154759030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THHCIIER HECTRGaRTe AT ST4159: FH: F: 7

1) Fem, 3@, T, 3 (2) o, fem, 71, waa,

(3) a-ﬁii,- Hed [‘9 g—rfr Eéfﬂli (4} ﬁm\! ! "El'ﬂ[‘: a—ﬁir ?i
Options:

51547535209, 1
61547535210, 2
61547535211, 3
61547535212 4

Question Number : 129 Question Id : 6154759031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

()  ofmOoe
(b)  SEE
()  wHuiga

(d guTE

1) (@ @ (b @ (2) () (@) (b) (o
3 (b (@ ) © 4) (@ (d) () (b)
Options:

BE1547535213. 1
61547535214, 2
61547535215 3
61547535216 4

Question Number : 129 Question Id : 6154759031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FfcTiigay HRTIRaTEu THTH FHHO TEE-aT

()  ofmooe
(b)  sEE
(c)  wHuiga

(d guTE

1) (@ ( (b @d (2) () (@) (b) (o)
3 (b (@ ) © 4) (@ (d) () (b)
Options:

615475352131
61547535214, 2
61547535215 3
E1547535216. 4

Question Number : 130 Question Id : 6154759032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATTAAE A T ITAAHA] FAHETT 5 ?
(1) et Fre SR R =
@) e ST SR SR

(3)  TEE! T FeEdT AT T AT
@) e ST S ST SETaT

Options:

61547535217, 1
61547535218 2
61547535219, 5
61547535220 4

Question Number : 130 Question Id : 6154759032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATACHA TG STATHM] FHHGRT Fa ?

(1) T FTedT ST aT 80T ST
@ e ST SR SR
(3)  TEEl TG FeIdT BOHET TEAERET SR T
@) e ST S ST SETaT

Options:

61547535217, 1
61547535218 2
61547535219, 5
61547535220 4

Question Number : 131 Question Id : 6154759033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1)  ZR-Te-Tea-TAH-TF -3
(2)  Zfi-w=E-gE-Te-vg- a9
(3)  gR-TgR-TH-gE-JA-Te:
@)  gf-Fd-Te-H-geE-vaaa:

Options:

615475352211
61547535222 2
61547535222 2
E1547535224 4

Question Number : 131 Question Id : 6154759033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

_ g 7 T fa * o Sl L
FYEUEHEN. TAFTIE LeaTeaaoAT FHHGR g7 ?

1 ghi-ve-gea-wE-vafa-a:
(2)  Yi-TIH-TE-Te-Tagii- 319

(3)  ghi-yg-=e-gea-4-1ar
4)  yfo-HFI-Ie- R -TTua:

Options:
61547535221, 1
61547535222 2



B1547535223. 3
B1547535224. 4

Question Number : 132 Question Id : 6154759034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HYIARGAY TFTHHCHAIAR AT EgY M =37 -
() TERRE:, g e, SRReT:, g gl
(2)  SFERTARSHN:, AgeaaEaiy:, TARTE:, gheaem g’
(3)  wEgm Ml @I, WATIRRH:, STERAHCISHR:, ATGITETEHIT:
(4)  TTEGIEENIE:, TEARRREA:, SaRah e, FHeoed 8

Options:

61547535225, 1
61547535226 2
61547535227, 2
61547535228 4

Question Number : 132 Question 1d : 6154759034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FETARGTY TETHCEHAHER JarEsagyT amm f=97 -
(1)  TGAARRE:, aTged FEHIE:, SaRqHagHN:, Gugnadl gl
(2)  SERAERCISER:, GCTaTEdT:, TARERA0:, gHeaem g1
(3)  wHgmEMl g1, WATIERE:, SFdeahcgat:, ITgeaaEym:
(4)  THIEEHE:, AR, SFEahasHR:, gigayml gl

Options:

61547535225, 1
61547535226 2
61547535227, 2
61547535228 4

Question Number : 133 Question Id : 6154759035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fefofgae Yehamt: | o9 9gfEa: % Fisf

(1)  IH-TH-SWiO-Tafaar-—gmmam-aar
(2)  ¥E-H-TAa-Hg-IRid—ameH
(3)  Fg-aET-IRIq—gGH-H—gHEH
@) &SR - 4G9 -3 -FaEH

Options:

61547535229, 1
61547535220 2
61547535221, 5
61547535232 4

Question Number : 133 Question Id : 6154759035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FYIIRGAS  Neharaf:  soaed Wgfed: HF: hHisted
(1)  TH-TH-SWi-fafae—gamam-gzr
(2  wm-gA-Tfoan-agr-swia-—gmmem
(3)  Fg-fafaE-swid—gg-ag-g91eH
(4) folken-swi-gg-y9-gg-gamem

Options:

£1547535229. 1
E15475325220. 2
61547535221,
61547535232 4

Question Number : 134 Question Id ;: 6154759036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wgefagrae ggfa: waisfa -

(1) wefa = afw 9, axf, wefa, wgeas:, =R =97 99qe9:, S gadde:, SEee
=7 91fe Fradded: |

()  TigHdsS:, Weltd =1 g99aed:, W Sadded:, Weid o J1itd Iadded:, Sie, Wi,
e F 91 =

(3) el = 99a=:, WG Sgadsd:, EEkd o A1 =F99q=a:, TgFded:, Tefe, T,
wefc 7 Tt =

(4) wEfw, e, wE = T =, Siggaes:, WEie Sedaed:, Sl Sedged:, See
= T FrETea:




Options:

615475352331
£1547535234 2
E1547535235 2
61547535236, 4

Question Number : 134 Question Id : 6154759036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wgefigrae agfm: walsfa -
(1) EEE = i =9, |, =i, Egeas:, e =91 94qed:, S gEdas:, S
= J1feq =aEae: |
(2)  gFT:, W = 990e:, W AEaae:, W o i Sedaed:, Se, S,
e F 91 =
(3) Tl = 99aeg:, WG Sgaded:, EEkd o A1 S9dq=a:, EgFded:, Tefe, ST,
wefed = A1 =
(4) e, S, EEE o A1Ed o, SEgaaed:, SEed Sreaged:, S Saeaed:, e

T 97 =EFaea:

Options:

615475352331
£1547535234 2
E1547535235 2
61547535236, 4

Question Number : 135 Question Id : 6154759037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefafgam sETEmETT 9T w0 FaEam

(1)  ume:, Wa:, 9F:, AH-cdaed: (2) HT:, HTHE:, IH:, TFEIYA:
(3) WA, WHE:, Y, JE: (4) YTd:, AH-caeq:, IH:, HHE:
Options:

61547535237, 1
61547535238, 2
61547535239, 3
E1547535240. 4

Question Number : 135 Question Id : 6154759037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FAfga =] FeeEwRT E, w: HaEan

(1)  9mE:, ¥ia:, 9199:, AH-gaeq: (2) WTE:, WIHgE:, 9, H-Cau:
(3)  WRA:, YR, TGaTH:, 9 (4) ¥E:, AHEE:, T, WIS
Options:

61547535237, 1
61547535238, 2
61547535239, 3
E1547535240. 4

Question Number : 136 Question Id : 6154759038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR e Tead 7o ggiud: | 379 Stach: ?

(1)  sEaEs g,

(2) 3 fsFrE ge=E
(3)  warrHl F=Ee sgEaea
(4)  THHH T GRfETE sEEa T 3R SHEcE

Options:

61547535241, 1
61547535242 2
61547535243 =
61547535244 4
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